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Topic:- General Knowledge and Logical Knowledge

1)
Select the option that Is true about the Statements

and Conclusions given:

Statements:
Some knaves are brunettes

Some knaves are daughters

Conclusions:
. Some daughters are bruneftes
Il. All knaves are brunettes

| 3% fased & T HIeT S & e v wuEt sk
forsat & a & wer &

FY.

FG oI AT §

TS o ofean §

ooy
I. o Sfear aFHT §
II. Fafr e emTer §

1. both conclusion I and II follows / ﬁmﬂfl GhT 1I Ea:h SR Wﬁ %

2. only conclusion II follows / Fad Fpy 11 SRV pdl %

3. only conclusion I follows / Had sy | SRV pXdl %

4. neither conclusion I nor conclusion II follows /1 B ftpd 1 3R 71 8 fsaw 11 S{FERUT FRA B

Correct Answer :-

e neither conclusion I nor conclusion II follows / - é)[ frspy | GﬁT El ﬁf fpy 11 S{FERUT GG %

2) River Narmada flows into the / TFTET =|T:ﬂ ﬁ\f\_ﬂ'ﬁ)—{ fradt %?

1. Ganga / T



2. Indian Ocean / %E Hel IR
3. Bay of Bengal / STl P @T@pf

4, Arabian Sea / 3Rd TR

Correct Answer :-

e Arabian Sea / 3Rd IR

3) In June 2014, which state was formed after the bifurcation on Andhra Pradesh? / S 2014 ﬁ, GIT‘iI'FI'-c){!lT &
fAUTS & 91¢ forw I5g &1 8+ foeaT waT?

1. Chattisgarh / E?ﬂﬂ'rl_d
2. Telangana/aﬁll.J [

3. Jharkand / IRES
4, Vidharba / fagH

Correct Answer :-

o Telangana / GRIGI

4) Which state has the largest state assembly in India? / HIRd o gaq aﬁ I faem T forwg wsa | %?
1. Uttar Pradesh / 31X ey

2. Bihar / ﬁ?ﬂ

3. Kerala / CR

4. Maharashtra / HERTY

Correct Answer :-

e Uttar Pradesh / 3T} e

5) Which among the following is a nuclear-powered submarine presently in service of the Indian Navy? /

fFrifed & & we-aifed $i-dt vAgst R T8 B Sar d g2
1. INS Sindhuvir / 3TSTTH RFAR

2. INS Shalki / 3TSUATY et

3. INS Chakra / STSTATH Th

4. INS Shishumar 3TSTTY RIYFR

Correct Answer :-

« INS Chakra / 3TSULY Th



6) Which article enlists the provision for President’s rule upon the failure of the constitutional machinery within

a state? / XY P IEX YAUTFIP AT AR B BT W APUFA P AT ST Ay {5 srgde o
THtas frar mar g2

1. Article 350 / 3]G 350
2. Article 352 / 3G 352
3. Article 360 / 3G 360
4. Article 356 / TG 356

Correct Answer :-

« Article 356 / %G 356

7) Which Indian Badminton player won the silver medal at the RIO 2016 Olympics? / frg YR dsfiieT
et = Rt 2016 sitcifie d Tora uge sitar?

1. Sania Mirza / 1T forst

2. PV Sindhu / G141 &Y

3. Ashwini Ponappa / ST T
4. Saina Nehwal / 9Ig-T ﬁe?ﬂa

Correct Answer :-

« PV Sindhu/ dt.dt. Ry

8) Jallianwalla Bagh incident took place on / SferaiaTar 1T &1 gen q?TﬂﬁT‘l’ §€:
1. November 13, 1932/ 13 FdsR, 1932

2. January 26, 1915/ 26 SHART 1915

3. April 13, 1929/13 &ra?«r, 1929

4. April 13,1919/ 13 3f8d, 1919

Correct Answer :-

e April 13,1919/13 \’rfaa, 1919

9) Rihand multipurpose project will supply power to ./ TE=< aga%;aﬂ”a CIRRIEE]
o1 fagad smyfd &t

LY

1. southern parts of Madhya Pradesh / &I TR & glaroft Y
2. only Orissa and Chhattisgarh / Had m 3R @T&'ﬂﬂ'ﬂg
3. central parts of Madhya Pradesh / ¥ Ta & g8 YT

4. northern parts of Madhya Pradesh / H& TSR & Sl U



Correct Answer :-

 northern parts of Madhya Pradesh / H&J eI o IR U

10) What is the maximum strength of the Rajya Sabha? / XTSUHHT # S wraaf Far %?
1. 240 members / 240 I

2. 250 members / 250 Ha¥J

3. 200 members / 200 &g

4. 260 members / 260 o

Correct Answer :-

e 250 members / 250 o

11) If MUSHROOM is coded HSUMMOOR, then how is EARTHQUAKE coded? / 4f¢ MUSHROOM &1
HSUMMOOR ¥ $If$d fa1 STa1 8, @Y EARTHQUAKE &1 %8 HIfSd fPaT SR

1. HTRAEEKAUQ
2. HTRAEQUAKE
3. EARTHEKAUQ

4. EKAUQHTRAE

Correct Answer :-

e HTRAEEKAUQ

12) In which state is India’s longest tunnel, ‘Chenani-Nashri Tunnel’ located? / HIRd P! g wal T

IR G fov vrea H fRya 82
1. Jammu and Kashmir / \_rmi[@'ﬁ? PR

2. Assam / 3[{H

3. Kerala / R

4. Punjab / USITd

Correct Answer :-

o Jammu and Kashmir / Gl’”i[\’:ﬁ? PR

13) From which state was the Armed Forces (Special Powers) Acts (AFSPA) withdrawn after 18 years in 2015? /

fpa oy @ 9eRd 99 (fay wifes) sififaw (weweadie) o) 18 a9 |1¢ 2015 & ara & forar mar ur?
1. Tripura/ﬁ'ﬂ?‘l



2. Jammu and Kashmir / W\’rﬁ? PR
3. Nagaland / -TI a's

4. Assam / AIH

Correct Answer :-

 Tripura / ﬁ'ﬂ?‘[

14) The Meghdoot Garden is located at . /ﬁ'ﬂﬁ_d T o R4 %I

1. Mandu / HIUG
2. Gwalior / TaTfCRR
3. Ujjain / S5O
4, Indore/%’iﬁ?

Correct Answer :-

e Indore/ 3%5 N

15) The Sardar Sarovar Dam is associated with / d¥GIR WIS iy F= J Teifea %:
1. Narmada Project / LRV RO

2. Bhakra-Nangal project / ”@ET-HTVW BIRUISEI)

3. Tapti river valley project / ATt et °ret uRareT

4. Mahanadi river valley project / AgT4I =TT a1t TRTSHT

Correct Answer :-

» Narmada Project / TeieT gfedierT

16) The National Voters’ Day is celebrated every year in India on ./ ?T@'q T feaq YRA A &%
GG B FART ST 7 |

1. 26th January / 26 STHARY
2. 25th January / 25 SRR
3. 21th January / 21 [EEEE]

4. 20th January / 20 STFaR}

Correct Answer :-

« 25th January / 25 SFAR1



17) Who is our current Union Minister for Finance? / 31113\’ EREIE] %Tsﬂtr IESLEICIE] %'?
1. Narendra Modi / TR% Hig!

2. Arun Jaitley / 3BT SIeat

3. Nitin Gadkari / A et

4. Sushma Swaraj / JYHT XGRS

Correct Answer :-

o Arun Jaitley / 31U Sieat

18) Who was the longest serving Governor of RBI? / fraa uRd fYerd 96 & 9k & FU A gead T
Y qF AAT B G 2

1. Dr. Bimal Jalan / ST. fSHd STra™=
2. Dr. Manmohan Singh / 3. Wﬁg
3. Dr. D.Subba Rao / SI. S1. gsdT I

4. Sir Benegal Rama Rau / X CRUNEIEIRIE]

Correct Answer :-
 Sir Benegal Rama Rau / TR CRUNEIEIRIE]

19) Madhya Pradesh Chief Minister has launched a radio programme called to address the people of

the state every month./nwm%g@ﬁ%aﬂﬁﬁmﬁmﬁmmﬁﬂ?ﬁm
A SN FRiHH yRY fHar 81

1. Pyaar se /AR
2. Dilse/fea
3. Mukhyamantri Ki Baat / J3H T3 Dl §1d

4. Mann Ki Baat / A9 &1 &1d

Correct Answer :-

. Dilse/fGad

20) Who is the second Indian to score a triple century in Test Cricket? / < fpbe d ﬁlB?T AP A a1 W
YR B 32

1. Ajinkya Rahane / 3ifoiag |
2. Virender Sehwag /ai ii edl
3. Karun Nair / 0] 1O

4. Cheteshwar Pujara /%I?[%R ENIN



Correct Answer :-
e Karun Nair / h¥=07 A1OT

21) If SOLID is coded TPMIJE, then how is METALLIC coded? / Tfe soLiD Y TPmuE A Bifsd fear wirar g, @t
METALLIC B & Bifed far s ?

1. NFUCNNJD
2. NFUBMMID
3. NFUBNNJD

4. NFUBMMJB

Correct Answer :-

e NFUBMMID

22) If GUEST is coded ISGQV, then how is YOUTH coded? / af¢ GUEST @1 IsGQv & difsd far ST 8, Y vouTH
&1 HA Hifed fear A2

1. BMXRJ
2. BMWRJ
3. AMWRJ

4. AMXRJ

Correct Answer :-

e AMWRIJ

23) The first sitting of the Lok Sabha took place in the year / P AHT BT YYH ffeder= af A
STaiford farar T ot

1. 1949
2. 1955
3.1953

4. 1952

Correct Answer :-

e 1952

24) The boys in a class stand in one line. If one boy is nineteenth in order from both the ends, then, how many

boys are there in the class?/@ﬁ&ﬂﬁﬁ@@ﬁﬁ@%%l ﬁﬁﬁ%wﬁwmm%
@ wem | fraq asd 32



1.39
2.37
3.27

4. 38

Correct Answer :-

e 37

25) In tossing of two coins simultaneously, what is the probability of getting at least one head? /a Ryl 31

TP 914 IV A, $H A A TP Y (38) UTH g1 &1 1 WiiepdT 82

1
4

e | L

o | e

Correct Answer :-

e | e

26) Today is Thursday. What day of the week was 866 days before? / 3{TST [¥>dIRX %I 866 e q?ﬁ, HqUIlg Dl

BI |1 fa u1?

1. Tuesday / AR
2. Monday / AR
3. Sunday / Ifaar
4. Saturday / THAR

Correct Answer :-

« Saturday / THAR



If 21%¢ November falls five days before Wednesday, then what will be the day on 25™ December? /afe gYaIR &

Ui f3 uge 21 o US4l g, qi 25 feuvR &1 @ fa g
1. Wednesday / §UYdR

2. Thursday / [&dR
3. Sunday/Tﬁaﬁ

4. Friday / JshdIR
Correct Answer :-

e Thursday / T>dIR

28) Two numbers from which of the following sets add up to 23? / IEE] Wﬂ?nl'fﬁ' 7 Q9 d o @Y 23 BT
NTEd 3t 31

1. {15,23,4,1}
2. {7,3,16,11}
3. {2,6,19,5)
4. {25,10,5,12}
Correct Answer :-
. (73,1611}
29) Find the odd one out: / U fquH JTd PIfeTC:
1. White / GG
2. Blue / Fital
3. Saffron / HORAT

4, Green /Xl

Correct Answer :-

« Blue /¥d

30) Find the odd one out: / Th fauw BIGH ?ﬁﬁm’:
1. Eyes/ 3

2. Nose / Aldh

3. Ears / I

4. Stomach / SHTHIRT

Correct Answer :-



e Stomach / THIRIY

31) Select the option that is true about the Statements and Conclusions given:

Statements:
All red are blues
Some red are greens

Conclusions:
I. Some blues are greens
II. Some greens are blues

1 39 farey &1 9= FIoTE S f faw e Hy=T ok faepef & IR # 98t 8:
DY:

gt e ia @
FOAATE

e

. FENARE

I.PIRAAE

1. only conclusion II follows / Wﬁmﬂf 11 3R Dl %

2. only conclusion I follows / Had FApy | &WW%

3. neither conclusion I nor conclusion II follows / :Té)fﬁ'@ﬂh GﬁT:T_GQI fspy 11 maﬂ?f%
4. both conclusion I and II follows / FT&GH 1 3R 11 QT WW%

Correct Answer :-

¢ both conclusion I and II follows /ﬁ'Eh_‘SfI GﬁT 1II 3 i} Wm%

32) Select the option that is true about the Statements and Conclusions given:

Statements:
All kites are rockets
Some dancers are kites

Conclusions:
I. All dancers are rockets
I1I. Some rockets are dancers



| 39 faey &1 I Hifore o f& few e Fy=T o fAsepul F IR A 9El §:
DY:

ot U P &

e

1. 9t e e §

II. $O IPC Tdb &

1. only conclusion II follows / Had Y 11 STV Xl g

2. only conclusion I follows / Wﬁﬂﬁb—ﬁh &HHTUTWT%

3. neither conclusion I nor conclusion II follows /:Té)fﬁ'@mfl GﬁT:fé:f frspy 11 &WW%
4. both conclusion I and II follows / &G 1 3R 11 G4 WW%

Correct Answer :-

« only conclusion II follows / Had FIpy 11 STTERUT o dl %

33) Complete the series choosing the missing number: / &l TSI JABR Yl Cg| Wﬂﬂﬁi’q:
0,4,6,3,7,9,6, ,12

1. 10

2. 11

3. 14

4.8

Correct Answer :-

34) Complete the series choosing the missing number: / & HSIT D &l Cal QRTE&RTI'Q
13,32,24,43,35, 46,65

1.52

2.55

3.54

4. 45

Correct Answer :-



. 54

35) Complete the series choosing the missing number: / Gt TSI D Y&l Cal QRTE&R!I'Q
4,23,60,121,

1. 241

2.242

3.212

4. 221

Correct Answer :-
e 212

36) The series given below contains a sequence of numbers. Identify the incorrect combination: / EiE| ?ﬁ Tré m
¥, HEI3i 1 U@ HH SUTRIT § | TTed HaIei Ugai-g:

1,2,3,5,8,14

1.2

2. 14

3.8

4.3

Correct Answer :-

. 14

37) The series given below contains a sequence of numbers. Identify the incorrect combination: / EiE| ?ﬂ Tlé m

o, T3l BT UH HH SURIG & | Terd YU Ugnu:
2,10, 30, 66, 130, 222

1. 66

2. 10

3.222

4. 30

Correct Answer :-



In a certain language, jea ton saz means how are they, saz liv ton means there they are, ton saz pic means
they are many, which word represents there? /Tdh WIH HIS UTHT 'J?f, Jjea ton saz 1 3 how are they;
saz liv ton®1 Y there they are; ton saz pic 1 3 they are manyﬁ?lT %I EX) PIS UINT H thered f%l'l;f
fra 2rsg 1 sxauTa fosar T 82

1. saz
2. liv

3. ton

4. cannot be determined / IFE/fRT 73?]97177' off Hpdl ?

Correct Answer :-

e liv

39) The first successful nuclear bomb test in India took place at / Wﬁmmuﬁ&m gl 3T YT:
1. Bombay / S

2. Pokhran / TRGR0l

3. Nellie / eeit

4. None of the above / IWRIad & ¥ P15 ol

Correct Answer :-

e Pokhran / GRGRUT

40) Select the option that is true about the Statements and Conclusions given:
Statements:

Some camels are giraffes

All giraffes are crocodiles

Conclusions:

I. Some camels are crocodiles

I1. All giraffes are camels

/ 39 fareu &1 991 Fifore &t {6 3w e HyEY ok frepuf & 9 # I8l 2:
DhYH:

PO e PR §

It foRTe TR §
A

I. $O $e AIRH 8
I1. 9 foRTe $e &



1. both conclusion I and II follows / ﬁ'@ﬁh GﬁT 11 a:ﬁ SR W %

2. only conclusion II follows / Had Fpy 11 S{TERUT pXdl %

3. only conclusion I follows / Had DY STFARUT pRdl g

4. neither conclusion I nor conclusion II follows / g)[ fAspy 1 3R A Bcf faspy 11 SR HIA %

Correct Answer :-

« only conclusion I follows / ad IS I 3JIRUT Hl &

Topic:- Mental Ability and Mental Aptitude

1) Inthe sequence shown below, which figure comes next? Je 83 I e H ATl 3T|Tfﬁ Fia @r

HRER
A / | AA | ?
i 1 i v

1.
2.
4,

Correct Answer :-

2)



In the sequence shown below, which figure comes next? J=r B TR H A, eI BTI?f% Fi ®r
HEED

Q00O ®OO 00 o000
L 4ol L del dOO L dol
00 ol 1 00e Q00O

1 1 i I

0ee
L 2l
L_Jo]e

olole
L 2ol
L L 1 J

olel |
L Jol |
L 1 I

00
eoCe
elole,

4.

Correct Answer :-

ol 1

L 8]
000

3) If the following two squares shown below overlap, which one of the following opticns is formed? / AT

o & gt wfacafog @ £ B #§ & 9 a1 v faFey ga9a1 &
N T _
A", =




Correct Answer :-

el

4)

Whatmstbeadﬂedm4§mmak£5§?f4§ #H T AT v Fad W 5% GEE



Correct Answer :-

5) A man crosses a 300 m long street in 5 minutes. What is his speed in km per hour? /W?ﬂ'ﬁ[ 5
fore & 300 Hiex T TSP B IR B Ad1 g1 TP fa Bt AT A | g2

1. 1.5 kmph / 1.5 fHt ufq e
2. 7.2 kmph / 7.2 Tt ufq ge
3. 3.6 kmph / 3.6 fH Ufd g¢
4. 2.6 kmph / 2.6 Tt Ufd €

Correct Answer :-

« 3.6 kmph /3.6 [t ufage

6) A father is thrice as old as his son. 25 years ago, the age of the father was 15 times the age of the son. The

present age ofthefatheriszlwmmgﬁﬁ?ﬂﬁwagé'l zsaﬁqﬁﬁmaﬁmgaaﬂsrrg@r 15 AT
2t | e &t acfarT oy #:

1. 87 years / 87 CL
2. 79 years / 79 ay
3. 69 years / 69 Gl

4. 74 years / 74 CL

Correct Answer :-
o 87 years /87 ¥

7) In the class of 50 students, the average marks is 65. Two more students are added to the list with 50 and 75
marks, respectively. One of the students, with 70 marks, drops out from the list. What is the new average marks of

the class? / 50 BT B H&T H N 3P 65 T | T | G 3R BT B SHAM: 50 3R 75 DI P TTY HST ST
21 BT A | TH, 70 3P & 1Y Gt W 18R ) 1T 8 | HET & ¢ 3NTd 3 T 8?2

1. 64.8
2.65.5
3. 66.6

4. 65

Correct Answer :-

e 64.8



8) The number of times 819 is divided by 69, so that the remainder is less than 69 is /ﬁﬁl‘ﬁ TR 819 P 699

fawrfora fa wime, fora f Avwd 69 A FH BN
1. 14
2. 11
3.12

4. 13

Correct Answer :-

9) Sushil was thrice as old as Snehal 6 years back. Sushil will be 5/3 times as old as Snehal 6 years hence. How old is

Snehal today? / 6 T¥ qd =ftd Wgd & i A1 73T 4TI 6 T Ut YA Vg 5/3 A1 IST S| AT Ve
fParaf # 22

1. 16
2.24
3. 12

4. 18

Correct Answer :-

10) A car traveling 5/7 of its actual speed covers 42 km in 1 hr 40 min 48 sec. Find the actual speed of the car. / Th

garq'—;mama?snﬁmaﬂﬁw1Ei%4oﬁ|=|z4sﬁ$ugﬁ4zﬁ?d’taa'cﬁ%| PR Bt AAP
FIGKE]

1. 25 kmph / 25 fopHi Ofd &
2. 45 kmph / 45 fH Ufa ¢
3. 35 kmph / 35 fH! Ufd @
4. 30 kmph / 30 fH Ufg g¢

Correct Answer :-

« 35 kmph /35 feet ufa g

11) The ratio of the length of a park to its width is 5 : 3. What is the length, if the width is 42 meters? / Tdh 3T

P GETS BT IAD! ASTS A 3UT 5 : 3 81 TS NS 42 ez 8 O dars fpat g2

1. 124 meters / 124 Hiex



2. 118 meters / 118 Hiex
3. 140 meters / 140 Hiex

4, 70 meters / 70 Hiew

Correct Answer :-
e 70 meters/ 70 Hiex

12) If a batsman scored 120 runs which included 9 boundaries and 3 sixes, then what percent of his total score did

he make by running between the wickets?/ﬁwmﬁ 120?_437'"':{, m9%@3mmﬁ%
N ITP Fd R oI fha-1 ufaxra 391 fade & dHa e a9

1. 48%
2. 50%
3.52%

4. 55%

Correct Answer :-
e 55%

13) If 6 women can work for 8 hrs and finish a work in 10 days, then how many days will10 women take working for

6 hrs a week? / Tfe 6 AfFETE 8 Bl & T &1 HY Ypdll € iR T &1 $Y 10 feT & THIE H Gl €,
10 Afgarsii & TH e # 6 el & o w1 $34 # fpaq fam e

1. 10 days / 10 faq
2. 13 days /13 f&T
3. 8 days / 8 e

4.12.5 days / 12.5 fe

Correct Answer :-

« 8days/s8faa

14) A can do a piece of work in 12 days and B in 16 days. The two undertake to do it for Rs. 6,000. With the help of
C they are able to complete the work in 6 days. What is the share of B? / A wamfa?r 12 ﬁ:lﬁ'a’_{ WT% 3R
B 16 fa1f ¥ &% Twar1 31 S 3/ 6,000 TUTT & A Fd 1 ¢ B HradT A 3 H1 o1 6 fe7 A gof &2 urat

HEEAEGIED L

1. Rs. 2,000 / 2,000 T
2. Rs. 1,880 / 1,880 ¥UY
3. Rs. 2,250 / 2,250 ST

4. Rs. 2,440 / 2,440 BT



Correct Answer :-
e Rs.2,250/2,250 ST

15) A triangle and a parallelogram constructed on the same base have equal areas. The height of the parallelogram
is 7.5 cm. What is the height of the triangle? / THTF MR W fAfifa te a3k ter quiay agyds # SRR

TP d B | THIMR gy B $u1s 7.5 9t 81 B P Sard | @2
1.21.5cm / 21.5 9T

2. 15 cm /15 9HI

3.7.5cm /7.5 9Hl

4,12 cm /12 9t

Correct Answer :-

. 15cm/15@ﬁ[

16) Average income of A and B is Rs. 200 and average of C and D is Rs. 250. Then the average income of A, B, C, D is

/ A 3R B B} 3N 3T 200 TUA B TG ¢ 3R D Ft 250 T 1 7Y A, B, ¢, 3R p B} 3ia A &
1. Rs. 225 / 225 3T
2. Rs. 150 / 150 T0Y
3. Rs. 230/ 230 ¥
4. Rs. 215/ 215 394

Correct Answer :-

« Rs.225/225 300

17) Naresh, Satish and Vikram have three boxes of apples. Out of the first box containing 40 apples, Satish and
Naresh divide the apples equally. Then Vikram takes half of what Satish gets. Satish and Vikram divide the second
box of 60 apples equally and then Naresh takes half of what Satish gets. Vikram and Naresh divide the third box of
80 apples equally and then Naresh takes half of what Vikram gets. How many apples does Vikram get in total? /

TR, A SR AP H & Uy A9 & A T 140 VT T UEA TR A [AIT 3R AR A A B R qie
fRram | fp= faspw A et & wrea Tat & & smem & forar ) Tdi=r 3k faspw A 60 Al T R TR B RIS
gier 3R R =1 3 Tz &t ured A & A e & fram) fasrw 3k =1 80 A ard AR I HY
TR ¥ gie foram 3R fpR w1 fapw o1 v Qe #  3mem & a1 21 FapH & pat fha Y U g1 @2

1.20
2. 100
3. 120

4. 60

Correct Answer :-



e 60

18) Which one of the following four addresses is NOT EXACTLY same as the one given below? / %
a0 T TR val ® & - oA T ud & St qu i 9 v e 32

Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(i) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(i) Ingo
Schleswigerstr. 6,

EckernfuKde, 24340

(iii) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

(iv) Ingo
Schleswigerstr. 6,

EckernfuRde, 24340

4. iii

Correct Answer :-

19) Find the average of the following of the numbers: 10, 0, -1, 10, 1, 0, -10, 10, -10, and 10 /
fFrafafeaa demnsit @1 siwa 31d #3: 10, 0, -1, 10, 1, 0, -10, 10, -10, 30T 10



2.-10
3.0

4.1

Correct Answer :-

. 10

20) What percent of 3/4 is 0.5? / 3/4 T fba1 ufawrd 0.5 82
1. 50

2. 67

3.70

4.75

Correct Answer :-

e 67

21) The selling price of 50 pens is equal to cost price of 80 such pens. What will be the profit or loss
after the sale? / 50 ®adl &1 fashy g It X Tt 80 FaH! & 9 Ted & RIS 8| fapa & ugra eny a1
g1+ fopait ghfi?

1. 50 % profit / 50% ATH
2.40 % loss / 40% © A

3. 40 % profit / 40% <ITH

4. None of the above / mﬁﬁﬁ_gﬁ

Correct Answer :-

¢ None of the above/mﬁﬁﬁéﬁ

22) A certain sum is invested at a certain rate of simple interest per annum. The total amount after
five and eight years is Rs. 1420 and Rs. 1660, respectively. What was the amount of initial

investment? / T& fAf3a 1 v Y o & arffer Aruror sarer R A 91 ot @1 uiw 3R 3o 9 &
YT F M HARM: 1420 I 3R 1660 TUA 7| URFUF o= 5t afy faet <fz

1. Rs. 1020 / 1020 ST
2. Rs. 1000 / 1000 ST
3. Rs. 1100 / 1100 ST

4. Rs. 1260 / 1260 SUY



Correct Answer :-
« Rs. 1020/ 1020 34T

23) When asked her age, Ms Marple says 'I will be n years old in the year n*2.' How old was she in
2000? / 59 gt ATda A ITD! AR TS 7S At I SR @ A nA2 g | n 9 Ft g I 2000 F A
fraw ad 3t A2

1.25
2.20
3.21

4.22

Correct Answer :-

e 20

24) In a class of 'n' students, 10 play football, 20 play cricket, and 5 play both. If 6 can play only
tennis, then what is 'n'? / 'n' BTl &1 H&T H 10 B Pedid Wad &, 20 BT fhdbe Wad g, 3R 5 =l
Qaa ¢1afe 6 Faa @A aPpd g at 'n' w2

1. 20
2.28
3.31

4. 26

Correct Answer :-

e 31

25) If after a 25 % raise, Hari's basic pay is Rs. 24,000, then what was his original basic pay? / gfe
25% gfx & Ut gk T ga 391 24,000 U B At IUBT IRAFAS Yol da-T T UT?

1. Rs. 30,000 / 30,000 TUY
2. Rs. 19,200 / 19,200 UY
3. Rs. 20,000 / 20,000 3T

4. Rs. 18,000 / 18,000 SUY

Correct Answer :-

« Rs. 19,200/ 19,200 SUY

26)



The sum and product of the equation 2m2 - 8m= 0 is: / THHU 2m?2 - 8m= 0 F TTHW 3R UHET

1.4,0
2.6,1
3.0,6

4.4,1

Correct Answer :-

. 4,0

27) The sum of ages of Lucky and Vicky are 21 and that of Vicky and Nikki are 18 years. Find the
sum of the ages of Lucky and Nikki, if the age of Vicky is 9 years. / &1 3R fag®! Ft Mg &1 ATwa
21 g 3R faat ok et &Y 3y &1 ahTwa 18 af 31 afe fasst #Y ey 9 o ? &t @t ok At &t amg &1
TGS F1d DR |

1. 15
2.21
3.27

4. 18

Correct Answer :-

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / LiE|
S e ®, srert 3R Wit w1 v wu fAfga § 1 Tea waeH vgaig:

i.bgvde1598edvgb

ii.bgvdel1598edvgb

iii.bgvdel598edvgb

iv.bgvdel598edvgb

4, iii
Correct Answer :-

e il



29) Find the average. / 3ira e
14,13,12,11,10 &6

1. 14

2. 11

3.9

4. 13

Correct Answer :-

e 11

30) A person walks at a speed of 5 kmph for 6 hrs and at a speed of 4 kmph for 12 hrs. Find his
average speed. / U% dfad 6 el & forg 5 fr it ufa ger &Y 9ra & 3R 12 el & forw 4 foredt ufy € &t =ma
T o1 81 D! 3T I1e 1 Be |

1. 7.33 kmph / 7.33 fH ufa ©ie
2. 5.33 kmph / 5.33 T Ofg g¢
3. 6.33 kmph / 6.33 fpHI Ufd d¢
4.4.33 kmph / 4.33 foeit ufay ©ie

Correct Answer :-

« 4.33 kmph / 4.33 foorit Ofq €¢

Topic:- Science and Simple Arithmetic
1)

In the given figure, if | || m and t is the transversal, then "X = L Rraw A A, I || m AR
t Tl W &, dr 'x' =

4x /"_ .'
\2}{ .

1.25°



2.30°
3.35°
4, 20°

Correct Answer :-
o 30°

2) . R g 3. . - NP :
Evaluate: {(E)'- - (E]r~} 53 (1]'* ! {(E]r- B (E]r*'} = (E)'* Ea) gel hiTaT :

WO | b

=R

4.

Correct Answer :-

1
. O

If'A' is a polynomial and (A) x (-3x%) = 9x% - 6x* + 12x* then'A'= [ & A
T 959G o AR (A)x(3x)=9x°-6x' +12x3 B, Al ‘A=

1.-3x3 +2x +4

2.-3x%+2x -4

3.-3x%-2x +4

4.-3 x> +2x2

Correct Answer :-

e -3x2+2x-4



4) ABCD is a parallelogram. The diagonals, AC and BD, meet at 'O'. If OB = 6 cm and AC is 4 cm
more than BD, then AO = ./ ABCD U& GHiaR agyw g1 fdw vl Ac au1 BD, f§g '0' R e B
fE OB = 6 A MR AC P @aS BD A4 AW 3R 8, AMA0=_ .

1.4 cm/ 4 I
2. 12 cm / 12 99t
3.8 cm/ 8 QAT
4.9 cm/9 TN

Correct Answer :-

« 8cm/ 8 IH

5) Suma's mother is five times as old as Suma. After ten years, her mother will be thrice as old as
Suma. Find the mother's present age. / JHT 1 41> DY STy JHT L4 S AR T '{F-ﬁ 8110 99 dlq,
T BT A1 DI AT T BT 3R B 4 T g1 | A1 B I8 3mg F1d Biforg|

1. 45 years / 45 Gl
2. 50 years / 50 CL
3. 30 years / 30 Gl

4. 35 years / 35 Gl

Correct Answer :-

e 50 years/ 50 Gl

6) Find the square root of 331776. /331776 b1 HT&ET JId ﬂﬂﬁﬂ'{l
1. 474

2.576

3. 496

4. 574

Correct Answer :-

e 576

7) Find the side of a cube (in cm) whose volume is 42875 em?’. / ST YT B Yt ('\a'lﬂ . 'ﬁ) Td aﬂﬁm
ot Smaa 42875 A B

1.25

2.45



3.15

4. 35

Correct Answer :-

e 35

8) 'A' and 'B' purchased the same article each for the same price. 'A' sold it for Rs. 14100 and lost 6%.
At what price should 'B’ sell the article so as to make a profit of 4%? /'A' 3R 'B' 7 3MUA-3U ﬁl’E
U 90 THH o0 TR BRI A" A 39 14100 TUA H 91 3R 6% 1 11 ISTE | ‘B 3T a%g
D f5d T IR 9 {5 IF 4% dTATH BN

1. Rs. 16500/ 16500 3GT
2. Rs. 15750/ 15750 TUY
3. Rs. 15600 / 15600 3T

4. Rs. 16850/ 16850 30

Correct Answer :-
e Rs. 15600/ 15600 30

9)
If 9x* + 4y* =100, xy = 8, then the value of (3x + 2y) = ./ & 9 + 4y* =100, xy = &,
ar 3x + 2y) = .

1. ¥12

2, 120

3. +18

4, T14

Correct Answer :-

+14

10) AB is the diameter of a circle with center 'O' and C is any point on the circle. If ZCAB = 20°, then
LCBA=___ ./ ABU® Jcd BT N ¢ R®T1 &% '0' 8 3R c @ R Ra o018 fig g1 afe zcas

=20°,dl LCBA =
1. 50°

2.70°



3.100°
4. 60°

Correct Answer :-
e 70°

11) How many planks each of which is 2 m long, 12 cm wide, and 7 cm thick can be made from a

wooden block 6 m long, 96 cm wide and 35 cm thick? /?ﬁﬁ\.ﬁ F 6 H. Fi%, 96 THI. iﬁ% aYUT 35 I,
IR g A 2 1. 14, 12 It A, 9yt 7 T M foram e §911T o 9@ B2

1. 120
2.90
3. 100

4. 110

Correct Answer :-

« 120

12) If the opposite angles of a rhombus are (3x - 5) and (2x + 15). Then the value of 'x' = J ﬂﬁ

TP gy A Rufia ST 3x - 5) qUT 2x + 15) 8, A 'x BTAA= .
1.10°
2.25°
3.15°
4. 20°

Correct Answer :-

13) The two adjacent sides of a parallelogram have lengths 12 cm and 8 cm. If the distance between the
two shorter sides is 9 cm, then the distance between the two longer sides is: / T HHIAX ﬂﬂﬂﬁ Prar
IRTT YT Bt dars 12 At aur 8 A 81 afe < it yomait & wem &1 gt o A 3, A < 7St
YolT3f & Heg B gt fe gt

1.6 cm /6 T
2.5cm/ 5 GH!
3.4cm/ 4 9Hl
4.3 cm /3 9Ht



Correct Answer :-

. 6cm/6@1ﬁ

14) The marks obtained by 20 students in mathematics are as follows:
13,19, 15, 24,5 18, 8, 12, 16, 12, 8, 23, 17, 20, 24, 21, 18, 13, 7, 10.

The data is divided into 5 groups namely 0 - 5, 5 - 10, 10 - 15, 15 - 20, 20 - 25.
What is the frequency of the class 15 - 20?

/20 BT GRT 0T & yed 8fs fA=TaR §:

13,19, 15, 24,5 18, 8, 12, 16, 12, 8, 23, 17, 20, 24, 21, 18, 13, 7, 10.

39 3fihs &) 5 gyEl A faunfora &= faar mar foFd A 0- 5,5 - 10, 10 - 15, 15 - 20, 20 - 25 §
i 15 - 20 B IRARAT HT 32

1.5

2.6

3.3

4.4

Correct Answer :-

15) I borrowed Rs. 10000 from my friend at 6% per annum simple interest for 2 years. Had I borrowed
this sum for the same period and at the same rate compounded annually, what excess interest would I

have to pay? / A9 3M0 fiF ¥ 6% a1ffe Aremor st wR &) 9 & forw 10000 T &1 HUr foram| afe
A gg <RI U 3aft & fore TH saTet R WR Ahgfes saTel & TR R foram giar, @Y g3t
fram aifafad sarer 3= wsan

1. Rs. 42/ 42 30
2. Rs. 24 /24 30Y
3. Rs. 36 /36 Y

4. Rs. 68 / 68 STY

Correct Answer :-

« Rs.36/36 300

16) Passage of gases and moisture is regulated on leaves and stems through openings called . ﬁ'\‘ﬁ

YT T &1 At ufer) dur A W) g™ a9 o5 & gRI B gar gl



1. stomata / IY

2. tubes / W
3. guard cells / X&h m
4. epidermis / Sffdre

Correct Answer :-

e stomata /Y

17) Which of the following is NOT a green house gas? / ﬁaﬁr@aﬁ@raﬁqtﬂq BIdhd ﬂﬁqﬁ%?
1. Ozone / 3‘ﬁﬁh:f

2. Carbon dioxide / W@E&ﬁaﬂﬁ_&"

3. Oxygen / ST

4. Methane / =IOE

Correct Answer :-

e Oxygen / 3TeRfor

18) Which of the following apparatus can be used to separate a mixture containing petrol and water? /

fFrafafaa Susur & 3 fFasT SuaT Uea auT a8 & YT &) et - & fore far o Jwar 32
1. Funnel and filter paper / @11 AT flheex TR

2. China Dish / 191 &2

3. Separating funnel / JQUdHR] HIY

4, Distillation flask / STHd- IR

Correct Answer :-

o Separating funnel / q‘qwﬁ Cole]

19) Dilute nitric acid when treated with metals do not give hydrogen. The statement which justifies this tendency

is: / TIPA ATSED 3T P! oI YT P ATY ITARA a1 91 8, A TS S o W TS BYeT 81 YA Y
39 UgfI & S ST 8, 8 °:

1. Dilute nitric acid is an oxidizing agent / dJdd 313'[?\37 KT Uh &WW%I

2. Dilute nitric acid is an nitrating agent / dJ&d i3 3 Udh ?lszﬁw 3ffireaf g
3. Dilute nitric acid is an reducing agent / dJ&d W AT Uh AU D %’I

4. Dilute nitric acid is a hydrating agent / dJ&d :|'I§E$ HET TUh oo Hfiwdf %I

Correct Answer :-



« Dilute nitric acid is an oxidizing agent / dJdd 3'3$ 3T Th SHFHIHRD B |

20) In biological control of weeds, name the insect used to control opuntia weeds. / 3UUT & Sfiq aﬁTﬁﬂ?

forderor 9, SfidfRr sraqur & ford=or 3 wge g1 aTd B HT W Jd15u|
1. Beetle / 4T

2. Cochineal insect / Bl Plc

3. Drones / GH&f

4. Aphids / Tflhg

Correct Answer :-

« Cochineal insect / BIINA Bl

21) Mica sheets are used in electric iron because: / Eﬁm ATRA A HIGPT Qﬁ'(.{ﬂ BT SUART fomar srar %
Fife:

1. Mica is very light and a good conductor of electricity. / HIgPT dgd el Eﬁ?‘ﬂ % \3‘?|T ﬁ'g{qﬁ D S dIdh %I
2. Mica is a good conductor of electricity. / HIRPT ﬁ’g{qﬂ BT 3T AP ¢ |
3. Mica is a bad conductor of heat. / FTSeT fAgad TUT &1 &1 HATAD & |

4. Mica is a bad conductor of electricity but a good conductor of heat. / HIgDHI ﬁ'ggua DHI pAIcTh 8 At ST T
31 A 6|

Correct Answer :-

» Mica is a bad conductor of electricity but a good conductor of heat. / HIgPT ﬁg&ﬁ DhI Il 8 Aft ST T
KEEINC

22) A forest is an example of: / I~ =@ Uh 3qlerul %:
1. A producer / Toh 3dIgh

2. A biosphere / Tdh SgHsd

3. An ecosystem / Uh IR CANE]

4. A community / Uh FHaI

Correct Answer :-

e An ecosystem / T ifRufde! 9
23) The shape of the moon changes every day because: / I~HI BT THR ufafe sgear %, Fifd:

1. We see the part of the moon from which the light of the sun is reflected / H d%HI DT dg HNIT a@a % o @W
YehT GRTafad gl g



2. The thickness of the moon’s atmosphere keeps changing / d-HI & dlgl-iSﬂ P J-I\ICISr Sl ?5("" %I
3. The earth forms a shadow on the moon / QQ T HT U BT ST %I

4. The sun, the earth and the moon are always in a straight line / Q:I}f, t,[&_:ﬁ TUT 5T Wed el Yt H g |

Correct Answer :-

o We see the part of the moon from which the light of the sun is reflected / H d<HI &1 dg HIT a@ﬁ % oraa @W

YehT TRTafad gl |

24) The part of human eye which is sensitive to dim and bright light is L HI P 3G BT I8 URT <11

e g Mg ye d ufa wadiglare, R
1. eye lens / 73 &=

2. rods and cones / XITTTdhT U4 X

3. cornea / Il

4. pupil / gadit

Correct Answer :-

« rods and cones / RICITPT Td TPp

25) Plant cells are mostly larger than animal cells. What might be the probable reason? / UlgU aﬁm

T U J ux3Hi &1 HIRF1 A 73 gt & | 3qPT1 JUTfId ST 7 8} Fohal 82
1. Water content / SIc1 3{TR[Y

2. Chlorophyll / TofgRd

3. Food storage / HIoT- TUGUI

4. Vacuole / Rfdder

Correct Answer :-

« Vacuole / Rfadet

26) Clearing of contaminants from wool is called ./ W@"g’feﬁ ua'rzﬁﬂ? JHTMYE I Dol
AT gl

1. carding / ?fﬂ_sc

2. shearing /G)'_Ufﬁ‘h
3. scouring / AT
4. spinning / ﬁTs‘

Correct Answer :-



* scouring / ST

27) Each kidney is formed of about a million small tubules called . /WW A areil
TTHI AT Biet Aferep1af & o1 g |

1. medulla /ﬁ‘g’(—ﬂ

2. cortex / depC (30—%?5)

3. glomerulus | TS

4. nephrons / 9dH U] @WI\%\ED

Correct Answer :-

 nephrons / 9d&H Y] @m

28) Which term is used for the organisms whose left and right halves of the body have same design? -ack: oq

31 oital & e uge ghar @ e IR & a1e aur g1¢ srufr &1 fewmga quH ar @2
1. Bilaterally symmetry / mﬂﬂﬁlﬁ
2. Radial symmetry/ﬁmﬂ'ﬁlﬁlﬁ

3. None of the above /Wﬁﬁaﬁéﬁ
4. Asymmetry/&mﬂﬁlﬁf

Correct Answer :-

« Bilaterally symmetry / fgUTSd Twfafa

29) Which one of the following is not made up of one cell? / 9 # T 9 9T TP TP HIBT BT 781
1 g3 82

1. Amoeba / ST

2. Zygote [/ JHAS

3. Hen's egg / T T 3faT
4. Spirogyra / W@THET[

Correct Answer :-

« Spirogyra / TTSRITIERT

30) Celestial objects can be viewed at night with the help of: / @MY fis TP Hee | Id H ¢@ 1
JHd %

1. Periscope / uRkaR
2. Telescope / ?;aaﬁq



3. Microscope / J&aRI
4. Kaleidoscope / dgH éaszi

Correct Answer :-

o Telescope / g?ﬁﬂ:[



